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BECC-105 : INTERMEDIATE MICRO
ECONOMICS-I

Time : 3 Hours Maximum Marks : 100

Note : Answer questions from each Section as per

instructions given.

Section—A

Note : Answer any two questions from this Section.
Each question carries 20 marks. 2x%20 = 40

1. (@) What do you understand by the term

‘Utility Function’ ? Explain with diagrams
the various forms of utility functions

underlying indifference curves. 12

P.T.O.
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Given the demand function Q = 60 — 2P0
and price T 676, find out the price elasticity
of demand. 8

Distinguish between returns to scale and
returns to factor. Explain the relationship
between average product and marginal

product through the curve showing three

stages of production. 12
Given the following production function of
A foemn

Q = [0.75 K0.25

Find the marginal product of labour and
marginal product of capital. Comment on
the degree of homogeneity. 8

What do you mean by the term
‘Efficiency’ ? Explain the concept of Pareto
optimality in general  equilibrium

framework. 12

Consider a firm that can sell many units of
its product as it can manufacture at ¥ 181
each. It has to pay T 240 fixed cost plus a
marginal cost of ¥ 14 per unit produced.
How many units the firm need to produce

break-even ? 8



4.

(a)

(b)
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State the concept of cost minimization.
Using the isocost, explain the analytical
approach for cost isoquant analysis,
minimisation. 12
Given TC = 0.5 g3 — 3q2 + 25q + 20, find
out MC, AC and slope of AC. 8

Section—B

Note : Answer any three questions from this

5.

(a)

(b)

Section. Each question carries 12 marks.

3x12 = 36

What is Consumer Surplus ? How is it
measured ? 8
Given the demand function Q = 250 — 25P

and the market price = ¥ 3, compute the
consumer surplus. 4

Given Q = 700 — 2p + 0.02 Y, where p = 25,

Y = 5000. Find the (i) price elasticity of demand

and (ii) income elasticity of demand. 12

Given the profit function of a firm producing

two goods X and Y : 12

n = 160X — 3X2 — 2XY - 2Y? + 120Y - 18

P.T.O.
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Find out the maximising output for each of
these goods and also compute the maximum
profits.

(a) Diagrammatically explain the concept of
consumer equilibrium. State the necessary

and sufficient conditions for the same. 8
(b) Consider a consumer whose utility function

18 :

U =4¢q;9,. The prices of both these

commodities are given as P1 = ¥ 1 and

P2 = T 4 and his budget B = ¥ 120.
Find out the quantity of q; and g, which
will yield the maximum utility to the

consumer. 4

Given the production function : 12
16K1/413/4 = 2144

Find out the marginal rate of technical

substitution.

(a) Prove that marginal cost must equal to
marginal revenue at the profit maximising

level of output. 4

(b) Using diagram, show how this condition is

met under perfect competition. 8
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Section—C

Note : Answer both questions from this Section.

11.

12.

Explain any three of the following : 3x4=12
(1) Convex function

(11) Expected utility function

(111) Edgeworth box

(iv) 2nd fundamental theorem of welfare

economics

(v) Homothetic function

Distinguish between any three of the following :

3x4=12

(1) Isoquants and Isocost line

(11) | General equilibrium and partial
equilibrium

(ii1) Own price elasticity of demand and income
elasticity of demand

(iv) Compensating variation and equivalent

variation
(v) External economies and external
diseconomies

P.T.O.
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